B.Tech-3rd
- Mathematics-I11
Full Marks : 50

Time : 2-;- hours
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Answer all questions

The figures in the right-hand margin indicate marks
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Symbols carry usual meaning

1. Answer all questions :

| :

(a) Find the Laplace transform of "f'/—“t“-

(b) Use variable separation method to solve
By = U

) Under what conditions a functmn can
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(d) %mﬂwpobahihtyﬁmﬁono

_ distribution. What is the mean of this

@m’buuon ?

J W second shifting theorem. Use this

gﬁndthe inverse of se”>* /(s” +u2) 4

' I;aplace transform to solve :
4y’ +3y=6t-8 }(0)=y'(©) =0.

Or

4

3. (a) Find the pm;,,',
= {

(b) Find the subsequent
a string of length / =
initial velocity is zer
deflection is 0.01 sin

State whetha-ﬁe ;
even or odd, and :

expansion.




. 3@ and prove Baye's theorem. ‘-

J 'GW::distribution function forthe oy

{ Peshebility density function 5. (a) Show that mean and variance of P
g ; distribution are equal.

(b) The length of atele
an exponential distributic
of 3 minutes. Find the proba
call (i) ends in less than 3
takes between 3 and 5 minutes.

ats A and B are two independent O o ' 5
, then show that :
sy ; (a) 1f the probability of hitting a
single target is 10% and 10
dependent events. 4 1 fired independently, what is the
: : i that the target will be hit at least o

oo

; ﬁltingigaﬁon is supplied with

-




the parameter i of the normal distribution
- with known variance o = o?2.

Fhe

| a 95% confidence interval for the
pofanormal population with stan-
siation 1.2 using the sample 10,
, 10,11, 10,11 and the value of

%) o

I () Findthe
data (-2, 3.
(6; L), i




